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Just like there it is with a cleaver and 1y "

Overview

The xn»12 teaches that murderers are executed by the sword at the throat. We
derive this from 119179 793¥. One however should not mistakenly assume that just as
by the 1793y it is done with a y9Ip and 7w 710, the same is by a murderer, when in
fact a murderer is beheaded from the throat; not from the neck. mooIn explains
why we would have thought that it should be 77 517, but not 7.

nooIn asks:
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And if you will say; how do we derive that the 911V 773 is decapitated »man
N Yw; since it is written 129, which means the actual 591y, not 371w H1n -

N1B0IN answers:
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And one can say that in 7917 793w pa2 we derive the laws of 7917 773y, from
the bird nXur through the MW 77712 of 7899y 785 that it is done 197y 21n.

Summary
The w"m of 79y 17197 teaches us to derive the laws of the 7917 193y from nNXLA

Y.

Thinking it over
Did m901n [in the question] not know of the X132 in 07t

!'See *"v1 on the "oy 7m0’ 2109 (in 11,7 XP°1) who writes; 2% - "9 91" RN TXD YOIWNT WRIT 723 X9 - 0w
ARINT AR 2 TR RIT AT DR IR0, It seems that 77w is higher (on the back of the head) than 77w 9w, which is
lower (opposite the throat).

> The P09 (in 7,85 [D°v21w] 0*127) reads 7m1a 72avn NX oW 197wY; indicating that the decapitation was from the 77Ww.

3 By mwn nRun it states (in 71,7 Xp°Y) 199 PR WRI DR poY; we derive that just as by the 7wn nxon (where it
mentions 197Y) it is 197 711 the same applies to 791y T2AV.

* See the X3 in IO that the w"T teaches us (merely) that >8R 79122 ANIR POV
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